
SAP ABAP table KOST1 {csks + cskt}

KOST1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

DATAB [DATS (8)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

KOSAR [CHAR (1)]

WAERS [CUKY (5)]

NKOST [CHAR (10)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

SPRAS [LANG (1)]

OBJNR [CHAR (22)]

LOGSYSTEM [CHAR (10)]

VNAME [CHAR (6)]

RECID [CHAR (2)]

ETYPE [CHAR (3)]

JV_JIBCL [CHAR (3)]

JV_JIBSA [CHAR (5)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 KOST1-KOSTL = CSKS-KOSTL 

0..N

0..N

 KOST1-NKOST = CSKS-KOSTL 0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 KOST1-OBJNR = ONR00-OBJNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 KOST1-BUKRS = T001-BUKRS 
0..N

0..N

T002

SPRAS [LANG (1)]

 KOST1-SPRAS = T002-SPRAS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 KOST1-LAND1 = T005-LAND1 
0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 KOST1-REGIO = T005S-BLAND 
0..N

0..N

T681A

KAPPL [CHAR (2)]
 KOST1-KAPPL = T681A-KAPPL 

0..N

0..N

T681V

KVEWE [CHAR (1)] KOST1-KVEWE = T681V-KVEWE 0..N

0..N

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 KOST1-KALSM = T683-KALSM 0..N

0..N

T8J6A

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

 KOST1-JV_JIBCL = T8J6A-CLASS 

0..N

0..N

T8J6C

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

SUBCLASS [CHAR (5)]

 KOST1-JV_JIBSA = T8J6C-SUBCLASS 

0..N

1

T8JG

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

ETYPE [CHAR (3)]

FDATE [NUMC (8)]

 KOST1-ETYPE = T8JG-ETYPE 

0..N

0..N

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 KOST1-RECID = T8JJ-RECID 

0..N

0..N

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 KOST1-VNAME = T8JV-VNAME 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 KOST1-LOGSYSTEM = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 KOST1-WAERS = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 KOST1-GSBER = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 KOST1-KOKRS = TKA01-KOKRS 

0..N

0..N

TKA05

MANDT [CLNT (3)]

KOSAR [CHAR (1)]

 KOST1-KOSAR = TKA05-KOSAR 

0..N

0..N


